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Time: 10 Minutes Paper English 8 (T-1) Total Marks: 10

3rd Month, 2nd Week, 2nd Day

Syllabus: Unit # 5: Vocabulary and Grammar (2nd half) Story: All that glitters

is not gold

Q.No.1. Choose the correct option. A3)

1. The words with same spellings and pronunciation but with differrent
meanings are called:

|(a)| homophone |(b)| homograph |(c)| homonyme |(d)| monograph |

2. The homograph of "right" is:

| (a) | right |(b)| write | (c) | wrote |(d)| left |
3. The girl looked when she handed her mother the of water.
|(a)| pail, pale |(b)| pale, pail |(c)| pale, pale |(d)| pail, pail |
4. The angry husband everything out the window.

|(a)| through, threw |(b)| throw, through |(c)| threw, through |(d)| threw, threw |
5. T have not seen him since Eid. The tense of the sentence is:

(a) present perfect (b) present perfect continuous

(©) past perfect (d) future perfect

6. Ali has lived in Pakistan eight years. Complete the sentence.

|(a)| since |(b)| for |(c)| both a and b |(d)| yet |
Q.No.2. Put the given verbs in the correct present tense (perfect or perfect
continuous). A3

e She (look) for her watch for two hours, but she (not find) it yet.

e He (work) as the editor of this newspaper since 1990.

e I (not see) her for a long time.

Q.No.3. Write a story on the moral of "All that glitters is not gold". “)
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